=
N = 0l & At & Ml A
2015 =2 3 8 LvtaH M
SN B0TPHIX D
Ham: DD SDEAC BIXH
©el: e ISP X (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
20|78 = X 2 4,644,814 4,711,511 166,697
DEY HBEHO HHA 3,042,209 3,084,109 A 41,900
ags 182y X 442,974 451,474 8,500
Mool EEN 2Y 55,210 63,710 8,500
201 YBr2 Y| 14,210 18,710 A 4,500
01 At 22t 14,210 18,710 4,500
OJzeIBSH| 9,000 12,000 £3,000
— Sl 1,000, 0002 1,000 4,000 3,000
OJIZ2AN L HAYDEA ZAH|
3,000,000% 3,000 4,500 A 1,500
202 04 | 9,000 13,000 A 4,000
01 2 ofbl 9,000 13,000 4,000
OJeLZ S0l 9,000,000 9,000 13,000 £ 4,000
HEE ARBA T4 Y WO 5B 29 1,909,341 1,942,741 33,400
g SNz 322,460 355,860 33,400
201 Yete H | 322,460 355,860 33,400
02 Bzl 319,700 353, 100 33,400
OZEXY LER(F-5) 8225802 620} 51,000 74,400 23,400
OZBExg KA 260,000 270,000 A 10,000
-s8(58) 3,000,000 *3CH 9,000 12,000 £3,000
—s2(28) 3,500,000 *9CH 31,500 33,500 A7,000
AW NA2s 84 55,332 70,560 A 15,228
Chest Xoiestol &4 3t 55,332 70,560 A 15,228
Ssagrs 14,832 27,660 A 12,828
201 2Bt | 12,432 23,340 £ 10,908
01 AR 22/t 12,432 23,340 £10,908
OSstaig2e gexd S|
7,000% <6 «32 128 1,512 2,520 A1,008
Osgiee sz 99,0008 «80CH 7,920 17,820 9,900
202 01 | 2,400 4,320 A 1,920
NETEEI 2,400 4,320 A 1,920
OSsta2e P2 ol
20,0008 +5% x22 » 128 2,400 4,320 A 1,920
23z 29 40,500 42,900 £2,400
201 Yet2 | 15,500 17,900 £2,400
03 BAFS I 15,500 17,900 A2,400
015 123122 2| 400,000% *63] 2,400 4,800 A2,400
BH2YHU (FOREIXAD) 1,300,099 1,309,668 9,569
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HoIPHI XA

I HYS2IFH(A0FHEIXA D)
gel: o2yl (el &)
SA-ZH A EA) - MFAY - BES Off &k 24 IEA HusZ
o523l 1,164,778 1,166,427 1,649
elg=dl 1,164,778 1,166,427 1,649
101 Q1244 1,164,778 1,166,427 A 1,649
02 JIEt X 2+ 9,073 10,722 21,649
OXAZE 2Y224Y
D912 *8E «11Al 2H* 128 9,073 10,722 21,649
JlZgl 135,321 143,241 AT,920
gl 135,321 143,241 AT,920
202 04 Hl 39,600 47,520 AT,920
01 =0l 39,600 47,520 AT,920
dRFAI 20 100,000 *33& 12 39,600 47,520 AT,920
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A & 0l & AF 2 E A A
2015HE £ 3 8 sl M
SH: R0IPOE K E D
Ha: MBI 5BHO e
Sl Bsae (B9 ®R)
= HH - (3 H) - HEMY - BdS Ol &F o4 I E M Husz
0RO E D 227,806 240,036 A 12,230
N=smo 52Xl 2l 55,417 67,647 A12,230
ssde 55,417 67,647 A12,230
sS4 ZHY e 5,500 6,500 A 1,000
301 LB A 0 1,000 A1,000
IBEEYE 0 1,000 A 1,000
ORSMEHY 28t ADBAI 0 0 1,000 A1,000
NEELET] 16,698 27,928 A11,230
201 et HH| 16,698 27,928 A11,230
01 At 22l | 980 1,680 A700
OBREXNSEAAS 59 FH+Y
980,000 980 1,680 AT00
02 2zl 15,718 26,248 £10,530
OBREXNSE Hel 2HL3
1,9302! +8, 14421 15,718 26,248 210,530
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N & o & AF & H Al A
20158 =F 3 3 Letal A A
PH: R0 FME M
Ha: Y2 (A0 P2
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
20| P HE 98,195 100,939 A2,744
= 2,832 2,832 0
Al 95,363 98,107 A2,744
HE2HZH (A0 2 ES M) 59,615 62,359 A2, 744
Jl23l 59,615 62,359 A2, 744
JlE2ztl 59,615 62,359 A2, 744
201 Let24E] 25,630 28,374 AN2,744
02 =224l 3,430 6,174 A2, 744
CHIEXNEZEE €5 fEZ 3,430 6,174 AN2,744
— &I 1,930& 2004 53 1,930 3,474 A1,544
— gt 300& *1,00024 58 1,500 2,700 A 1,200
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= A
N = 0 &8 AFH Y & A AN
20158 &= =& 3 3 Leg[AH M A
SN R0ITALD
Hu: ol MGlD Wels CREAIEY
R 28 X2 (&2 &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
A0l RAHL D 7,049,027 7,053,707 24,680
[=4 250,400 250,400 0
Al 6,798,627 6,803,307 24,680
OlEGtD Wl CREAXA 4,513,062 4,513,062 0
cEexze 4,465,562 4,465,562 0
C2 YU S2AHE 22 1,843,856 2,343,856 A500,000
401 AlEHIZ 2Tl 1,666,885 2,166,885 A500,000
01 Al&HI 1,662,942 2,162,942 A500,000
Oa=s BEESW HELAMY(FIE EEXAHD
23) o 0 500,000 A500,000
AES BESD AL N2 500,000 0 500,000
401 AlEHI 2 =0hY] 500,000 0 500,000
01 Al&HI 500,000 0 500,000
Ods BExR1 HES MY(HIT SEXF
ne3) 500,000, 0002 500,000 0 500,000
HHSHAH (A0 ALD) 566,510 571,190 A4,680
Jl 2| 66,540 71,220 A 4,680
I 2| 66,540 71,220 A 4,680
201 LBt 24,840 29,520 A 4,680
01 AF2 22| H 24,840 29,520 A 4,680
oORMegII=2HdY| 23,400 28,080 A 4,680
— a2y 25,000 «26% * 122 7,800 12,480 24,680
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N = 0l & At & Ml A

AN E0RA=

HE: M0l Mg F) #F X4
Sel: 28 U IMASS SEX el CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A0 TAED 126,737 130,737 £4,000
Mol Belst F) 2 X4 13,417 14,417 A1,000
=Y L YHASE S8 22 13,417 14,417 A1,000
A=SUE JNZN2 F| 13,417 14,417 A1,000

101 @121l 13,417 14,417 A1,000

04 JIAHIERSE S 13,417 14,417 A1,000
OAZ2UF UNREH JAHI2X 12| 11,054 2,054 A1,000

-Jl=a 8,375,0002 8,375 9,375 A1,000
BHSYAH (A0 TAS D) 51,655 54,655 3,000
o= 51,655 54,655 3,000
Jl= 2l 51,655 54,655 3,000
202 01t 23,880 26,880 A3,000

01 2L o1 bl 23,880 26,880 3,000

O L =701l 23,880,000 23,880 26,880 A3,000
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N & 0l & Av S Z M A
20159 = =& 3 3 LB &l
AN E0FHZ2F 0
g otdotn HEE TAEE X4
Helr HRe HEEd xd (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
0PIt H U 526,471 541,363 A 14,892
QMG BHS ZTAIEE X4 256,734 257,784 A 1,050
ThRE MEEE 4 256,734 257,784 A 1,050
SEA ¥ LAFIE FH 256,734 257,784 A 1,050
201 Let24E] 63,058 64,108 A 1,050
01 AFR2telHl 61,858 62,908 A 1,050
OL84 HX= EHEH gXs
350,000 *1CH =12 350 1,400 A 1,050
MEO| HES TA 2E 24 208,327 220,477 A12,150
THRe MEEd x4 208,327 220,477 A 12,150
222 & &bl 208,327 220,477 A 12,150
201 ¢er2d| 134,727 146,877 A 12,150
01 AF2 22l bl 131,597 143,747 A 12,150
OsgsRsZdLE 34 24 84,597,000 84,597 95,597 A 11,000
OE8&102 HIIE Ma==2
154,540& »110E 17,000 18,150 A1,150
HAE2HZH (A0 22 F YD) 61,410 63,102 21,692
JlEZl 61,410 63,102 A 1,692
JlE&l 61,410 63,102 A 1,692
201 €24 26,656 28,348 A1,692
01 At 2t 2l 24,576 26,268 A 1,692
OUXNE=EI Sx=
{(308,000& 1CH*3& )+(120,000& = 1CH*9€ ) } 2,004 3,696 A 1,692
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